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Instructions (Read It carefully.)
Tt (e TN 7S))

Fill up your Examination Registration number (08 digits, i.e. 223xxxxx) and personal
details in allotted space on OMR Sheet. Please follow the correct method for darkening
the circle of your choice as mentioned in OMR sheet. Your answer to be marked on
OMR sheet by “filling/darkening the circle” with BLACK INK Ball Point Pen only.

(CWR TAFH @ARTCEE F97 (08 AW, @A 223x0xx) 9% FfEE FTTT OMR
NG IA+FE I TR IFE| (W TCA JIBE FNN FAF TN T FE OMR
Tt TRfE TRT THE WET F@| (CWE SoF OyEE

i@ "q5 Sf" @ OMR TG fBfFe saw@ @

. No extra OMR Sheet shall be provided to you in any circumstances. If the OMR
Sheet is found defective, please inform the invigilator at the beginning of the
examination.

(FF ISR (CHIF (I AfSAE OMR Mo aw Fa1 TE a1 3™ OMR Mo =B
@E W, W TASH OF©R MA@ 8|

. You have to answer all 50 questions. Each question carries 2 marks. There Is
negative marking of %% mark for each wrong answer. Unanen'ipted questions will be
evaluated as ‘O’ mark. All the questions will be both in Bengali and English languages
& there will be four answer options (from A to D) for each gquestion. You have to
choose only one correct answer. Few blank sheets are included at the end of this
booklet for rough work.

emmeE 50ff Fvre WesfiE Tuw fie @ il som ww 2| fef @ Sewm s
% WEF IO INE| e 77 o (Jw 9w 78 '0 RME AfRvfe Far @ e
T IR 9T RES Te¥ SRY W@ A Iffe FurE o sEl ToEm fRw e
(A (@ D 1) | (ePM@ A3 W@ NPT Tow @® fAe @ TE IET I 3
- TRFR (T FEF0 BT T (W8T T

. You are not allowed to keep mobile phone or any other electronic gadgets including
calculator with you but geometry box is allowed.

(OFE ST FFEEIoT, TERT (BF q I (I FIRAS O6 TE NS
(R o@ WEHfe I e |

. Adoption of any unfair means will cancel the applicants’ candidature. No request in this
issue will be entertained.

FEN IHR ST IO FAW INIE @yer Ifew A & 9 IR @EET
TAEN I FAT & AT

Before leaving the examination hall, you have to submit the OMR. sheet to the
invigilator. You may take the question booklet after the examination.

AW T O FAE IO, (SWNE TEWN@E F= OMR b o9 fote @ “9ST
O WA @ e REEme o E @@ A&

. Please read all the instructions provided in the OMR Sheet.

IR FE OMR TG (WeT Ny fArinaa Ter
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QP-VSO-L1(9)-2023

Each question has four options (A, B, C and D) for answer. Please choose the
correct option and fill the appropriate circle with black ink ball point pen in the
OMR sheet.
AfSfe oraw Tgran vrafe FFg (A B, C 93¢ D) WY WYX A A5
T35 @rg 18 932 OMR M8 FTTen Ffer 7# TS (o o Ty Fof®
NI

Questions

Magnitude of limiting frictional force acting on a body resting on a rough
surface does not depend on -

35 I vEE TIF 9P @ PHEEEE vEEEe 38T OvE fHIre
g 9X9 IEF N 7 S99 8T W A, e W -

A. the normal reaction force acting on the body due to the surface

(SFE S IBF SFF [HITE OFF ASTHIT I9)
_g. the surface area of contact (™Tfeld (Fa%HT)
C.
D.

the nature of the two surfaces (%6 ¥ =3f%)

the acceleration due to gravity at this place (2 & AfGIHS TI¢)

A person wants to see something with a periscope to overcome the barrier
in front of him. Two reflecting mirrors of the periscope should be -

IFEY Tfe OF NEER IN Aeww F@ 90 (IREECRE T Fy
@ 5| (fAETE IfeTama ATaNE FE -

A. perpendicular to each other (F™Fd JT¥ 9 ©IF)

B. parallel to each other (S F™9(EF AMY FAA@HT ©NF)
. at an angle of 45° to each other (F&™@F NNY 45° (FIA)
D. at an angle of 60° to each other (FF™IEE WY 60° (FN)

The mass of a body as measured on the surface of the Earth is M. Its
mass is My as measured on the surface of the Moon. The acceleration due
to gravity on the surface of the Moon is 1/6th of that of the surface of the
Earth. Then,

TAE o3t T/ 7 T M 9 TP | ©F W M| RIS
SfSFHS TNF TF NI} 7 ISFHS THem =T 1/6 T O,

A. M =6 M B. M =M C. M= M/6 D. M =2 M,
&
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The physical quantity which has the unit newton-second is -
T (Ble FFE 935 FSoA-CFS, O T -

A. force (J%)

B. impulse (JEF 919)

C: pressure (BT%)

D. energy (&)

At the sea level to indicate the normal atmospheric pressure a liquid column
of length 5.44m is required. What is the density of the liquid in gcm'3?

SEer SN IENSTT BT AU FAH I 5.44m 93> SITIE AASAI
gem™ AF@ GATGA TAY Fo ?
A. 3.2 Bi: 2if= T C. 2.3 D. 1.9

In the month of May the average temperature in a city is 35°C while in
December it becomes one third of this value. When measured in Fahrenheit
scale, what will be the ratio of these two temperatures ?

™ WO 9FH THEA TG SWel TN 35°C 9T fEOEA WG TG TFST
WA AF-PORART T I TIEERRG (R AN W, O@ 32§ TIER
IPTe F6 [S?

A. 62:37 B. 95:53 C. 27:8 D. 79:41

The adjacent figure shows the
displacement-time graph of a
particle. =~ Among the following
options, which portion(s) of the
graph indicates acceleration
(positive value) of the particle?

Displacement (STHT)
=
sl

way fom afc I FAF FFA-
WY fes @ @ 3

faffte ofim W @IftEs @@ T,-.,"m
FAG T FAT §THF TS
a9 T @ 7

A. OA B. AB yBC D. OA & BC

[4]
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10.

There are three charged bodies A, B and C. If A is brought closer to B
they attract each other. When body B is brought closer to C they repel
each other. We can then conclude —
feaft o1fie =@ A, B 933 C FT IM®I A @ B-I7 FHE® AT A
TR TAAE AN FEF| B TqE C-97 IRDI® A T OE TTNHE
s s o A 92 frame oiere 13, @ -
A. A and C have same kind of charge while B has opposite charge.
(A 8 C-(& WMo WM IT B-(® fAIqe N+ T@®)
‘j. B and C have same kind of charge while A has opposite charge.
(B 8 C~(T ool INW I3t A-( 97 F78te awm 7@m)
{54 A and B have same kind of charge while C has opposite charge.
(A 8 B-(T THSTOIY IWW 932 C~(C e awe F@m)
D. A, B and C have same kind of charges.

(A, B 8 C TFEAR M@ I3 97)

A bar magnet is cut into two equal halves so that we get two pieces each
having half of the length of the original magnet. Then, the pole strength of
each piece =

936 % FESE W GO INNSRT IHI I (¥ YT GEEd A WS
e ¥S ST (7| SR, IS GFEE FES -

A.  becomes doubled (f&89 %)

B. becomes half (JMHF =F)

C.  becomes zero (7 ¥F)

D remains the same (IFfRIfS® ¥FE)

In winter, if we é:omb our hair and comb is immediately brought to tiny
pieces of paper, the paper pieces initially get attached to the comb. After a
while the paper pieces fall from the comb, because -
g e pFER IR AAE, TFEErE FEwE FIE oFn fwfEm
WO IbE IW e w9 I IEeen ffEfE 0w g we
(Ate (W7 9F] a9 199 2 —
A. entire charge of the comb gets discharged in the surrounding
(bfom o7 ov@ oF TSt % fasfe =@ T@)
B surface charge of the comb gets absorbed within the comb
(efm era o a@ fisfite cnfie @@ 3@)
C. charges are neutralized due to interaction between tiny pieces of
paper and the comb ({6 8 FrMER FFERfm Ty amE:lFIE
S e e T Im)
D. tiny pieces of paper get some charge and repel the comb (FTSSH

o P g e aiffe @ o fisfaw v s@)

[S] :
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11.

12.

13.

14.

>

16.

17,

Which of the following solution will show initial pink coloration upon addition
of Phenolphthalein that fades out with time?

frET @ 5EIG G (@ FAE 99 INE B (TE §8 (R
7 SN@E Y Y e @ 137

A. KOH B. NaOH C. NHOH D. CH;COOH

Which of the following is an example of amphoteric oxide ?

fasg (FEG ToNdl AFRGT SuRad?
A. Na0 B. CO; C. CO JD. Al,0;

Which of the following pair of gasses will react to form a solid ?

fMET @W 95 T RAEA FE 936 I T s FRE?

A. SO, & CO B. CO, & NH; C. SO; & O; D. All of the above
Which of the following metal is capable of adsorbing Hydrogen gas?

fame @W 4G TREIEE SN ARCTIT FF© TIHA?

A. Fe B. Au C. Ag D. Pt

Which of the following compound is peroxide?

e @@ @PE TEERG?

A. COZ B. Ba0; C. SOz D. P:0Os

If the formula of ferrous phosphate is Fes(POs); and that of ferric phosphate

is FePO. then what will be the formula of ferrosoferric phosphate (lron(I1)
lron(1ll) phosphate) ?

AN TNGE -9 BT Fe3(POs); IR (BfFF HHo-I7 T3 FePOs
T, GEACTEES HEE ( SFET(I) WFEA(I) Tes) 97 W
E?

A. Fes(POs); B. Fe;(PO4)s4 C. Fes(POa4)s D. Fes(PO4)s

Which of the following reactions is indicating acid base neutralization

A 2H; + O; = 2H;0

B. H" + OH = H0

C. CioH2201 + H,S0s = 12C + [H;S04. 11H:0]
D CuS0O;. 5H,0 = CuSO4 + 5H;0

[6]
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\]K Which of the following statement is wrong?

./24.

faws @@ fRgfelt g7

A. Non-stick cookwares have teflon coating on them
(FaF%F I (BCHAEE BT (VST AT )
B. Carbon dioxide is the main greenhouse gas of atmosphere

(IAFSTE FET TR IHRC T TN AN ST SO )
C. Calorific value of hydrogen gas is far more than fossil fuels
(Shary SETfe TS WETET IR S T @S (@)
D. PVC is a biodegradable polymer

(PVC 236 BERERT I PGS =] )

Electrolysis of molten sodium chloride and aqueous solution of sodium
chloride yield respectively at the cathode:

afe TR @FRERG 93 CNEIN FRERGA S G9em ofes o
FAE INAE IVFW 36 IR:

A. Na, H; B. Hz Na C. Na, Ch D. Ha Clh

Which element with the following atomic number is different from others with
respect to chemical property?

e yoi it fts @w T o R[RFR oWt IRme @
EI?

A 4 B. 8 C. 12 D. 20

L
If (c2+kc+1—1;) be a perfect square, then the value of kis —
(c?+ ke + ;) a=f6 efast afF 707, k -7 o =T -

1 1
A 4 B. 7 o 2 /D =
If the number of sides of a polygon is 14, then the number of diagonals of
the polygon is —
@I TQOF JRE AT 14 T, INQER I AT T -
A 14 B:. ‘77 . 191 D. 28

If 0.8x+§= 0.23 + 2, then the value of x is —
0.3x+§=0.23+2 T, xIF NH T -
A 3.32 B. 223 ¢ 23 D. 332

The L.C.M. of 4ab,12a?c and 18a?c? is —
4ab,12a%c 8 18a®c? A7 418 I —
A. 36a’bc? B. 72 a?bc? C. 36a%b%c? D. 72a%b?%c?

[7]
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26.

If P is an interior point of AABC, then —

W AABC -97 9306 w@:% 7] P2¥, O -
A. AB + BC + CA > 2(AP + BP + CP)

B. AB + BC + CA < 2(AP + BP + CP)

G, AB + BC + CA < 2(AP + BP + CP)

. AB + BC + CA = 2(AP + BP + CP)

If a person travels 10 km by bus in 30 mins, then the velocity of the bus
is =

I @ TE IO S 30 G 10 56w afsmEy @, ewm Ies
SFe@EST = — '

A. 10 km/hour (¥ /5%6T)

—B. 20 km/hour (fFf% /5757)

C. 30 km/hour(f¥f% /5757
D. 40 km/hour (¥ /=%6T)

If 991 + 993 + 995 + 997 + 999 = 5000 — N, then the value of Nis —
% 991 +993 + 995+ 997 + 999 = 5000 — N %I, SR N 98 & T -

A. 5 B. 15 L 25 D. 30

A man and a woman receive Rs.4800 as wages for 5 days for the work
they did together. The man’s efficiency in the work was three times that of
the woman. If the daily wages depends on the efficiency in the work then

the daily wages of the woman is —

95O PFY 3 IFGA ACTE I (RPN IOF I 5w woE BE
4800 BRI TH| F[@ TFAGA wFel Hewoa @ fagq @l I W
T FOF THOE OTF 6T IE, OF WERHHA G AGH T -

A. Rs.720 (720 BI?T)
B Rs.320 (320 BI=T)

C. Rs.200 (200 Br=T)

D. Rs.240 (240 @)

The ratio of two integers is 3 :5and their H.C.F. is 12. Their L.C.M.is -
96 TIRAH TGS 3:58 O THLS. 12 T, AW GfoF T.9.8. -

}r. 96 B. 180 C. 120 B 225

e
8] %;C
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30.

31.

After solving each of the equations 6x° —25x+14=0and9y?—9y+2 =0,
the most appropriate relation found between xand y is —

6x? —25x +14 =0T 9y* -9y +2 =0T Y6 WHHNE FIA T,
X AR y 97 MY NEGE MoF @ FHH MW IW, ©F T -

A. x>y B. x<% C. x=2y DL x<y

In a 70 lire mixture of milk and water, water is 30%. A person gave 20
litre of this mixture to a customer and then added 20 litre of water to the

remaining mixture. The percentage(% ) of milk in the final mixture is —

70 B W& a3 SEE frme, SEE @ 30% | 9F fF 2 fewem 20
fiow v aReE fEe 9 SEME wEfiE fme 20 fEE S @
FACA| FOB B GEE Teear AT 7+ -

A. 48 B. 50 C. 40 D. 53

The value of J10+J27+\!65+\J256 is -

\/10+\/27+\)65+\?256 a9 HqF 39 -

A 9 B. 8 C. 6 } &4

In the adjoining figure, ABCD is a

quadrilateral. The bisectors of LABC and the A B
exterior angle of £ZADC meet atP. i
Given £BCD =80°, LADC =>/DAB and o /)k° B ¢

£DAB = £BCD + 40°. Then 4DPBis -

A46
g f6a ABCD 936 5g9®| <ABC 97 8O 102 6
THEYSF 9T 24ADC 99 IR:F @ Zz

TENs? P e fife ==

(M8AT AR £BCD = 80°, £LADC =2 £DAB 933 LDAB = LBCD + 40°, SR
¢DPB 93 W T -

A. 50° B. 60° C. '70° D. 80°

[9]
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34. A man was employed on the promise that he will be paid the maximum
possible wages per day. The contract money for the whole period to be
paid was Rs.1189. But he was paid Rs.1073. The number of days he
actually worked is =
FEE (M 22 Ffewfe Fw s F77 W@RT @ o ofofm semy
ke TR @80T T@I T TWIAWE S §fEA oA e & 1189 G,
o o 1073 @1 (Mo @R T Tofm ™ F@Es ©F = -

A. 35 B. 37 C. 39 D. 40
/

35. A number is multiplied by 3/5 instead of 5/3. The percentage error in the

calculation is -

2FfC MAME 5/3 A7 ARSI 3/5 AT 8 I TJ@| T TOREE
e &6 37 -

A. 54 B. 64 C. 74 D. 84

\}B./ Ribosome is synthesised in -

W e T -
A Endoplasmic Reticula (TSTARIN SR )
: _

. Nucleolus (fEfF8eTT)
G, Golgi body (@& IFE)
D. Lysozome ( FTRGITON )

\_3)./ Compounds released by one type of bacteria killing other types of bacteria

is called -

IF IFE FREHEI (W@ [ AT I AW TFT TRGRING &Y IE,

OlF I 2F -

~A.  Antibiotic (IMBITINES)

B. Antithrombin  ( STBYTE=)

C.  Antifiavonoid (STIfBFTETTT)

D. Probiotic ( (TATGF)

i&/' The organism that always changes its shape is -
@ &7 TP T AP FIEA FA© M GG T -
A. Euglena (2Sf4T)
B. Paramecium ( STTRTCIIATH )
. Amoeba ( IIFAT)
D Yeast (35)
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/3& Virus can be observed under -
SRAM (F @S T NET -

Simple light microscope (N9 SETF W‘ﬁl’%“f =)
Compound light microscope (@& ATNF F(STHT IF)
Electron microscope (2@FEN Wﬁﬂﬂ“lﬁ)

Periscope ((TRTETE aT)

{4-0’ Which of the following disease is caused by bacteria?

ﬁﬁﬁﬁ—@ﬁmmgm

-

D.

o>

Tuberculosis (fofF a1e TRIT)
Measles (ZTH)

Chicken pox (fSm@a 73)
Polio ((*T1f#a )

/1. Which of the following food has the highest content of carbohydrate?
fraffte @w amfte T=is Ty = nE?

<A.
B.
C.
D.

Pulses (TTT)

Rice (BT¥)

Pearl Millet/ Bgjra (ITHET)
Finger Millet/Ragi ()

(ur Glucose is stored in muscle cells as -

(TNEE FES 9Fe 3T -

£ A
B.
C.
D.

Lipid (5 =oT)

Protein ((=NfGa FT)

Glycogen (JRETSH F(T)

Nucleic acid (@SFs smfs FvT)

43. AIDS is a -
AIDS 3 -

A.

B.
C.
D

DNA viral disease (DNA BREIY ®bw (A7)
RNA viral disease (RNA BRIN Hfow &)
Bacterial disease (INFHNIT Hfbw @&PT)
Fungal disease (%a/® Hfbw @)

}k During the time of Bengali New Year (Mid-April) you go to a village trip
in Cooch Behar and find that rice is being sowed there at that time. What
kind of rice they are cultivating?

I AR (AfFT 97 TREIRY) BN FERTE @re B oRE orme
4 @@ Rl OF F amEs zﬂw R FEE?

A.

B
C.
D

Aus rice (IMST HT)

Amon rice (9FT &)

Boro rice ((IMET &)
Kharip rice (3% &)

[11]
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46.

47.

43

Which of the following 'organ in human body becomes larger due to

repeated malarial infection?
AT R RS W w99 @ R e 6 S 3

?

A.
B.
&
D.

Pancreas (S{ETH)

Adrenal gland (SmfSaE 9f%)
Spleen (&1aT)

Thyroid gland (¥RAES %)

Extract of which plant is used in skin moisturisation ?
W IREF FAT wFT LS ITH IE 9L FAT 3T ?

A.
B,
=

D.

Pudina ( feT)

Garlic (%)
Aloe vera (SNES4AT)

Turmeric (T9)

Why is mammalian RBC biconcave in shape?

7 (ke TEFF To-TeT (FF7?

. To carry oxygen (JfHEE Iz9 FAF &)

B.
C.
D.

To carry food (% 939 IAE &)
To carry Nitrogen (HRETGH I3 FAE )
To carry Hydrogen (IROTSH I59 FAE Sa)

Feeling stressed and tired your friend drinks a cup of tea and feels
energetic and stimulated. What might be the reason behind such feeling ?
(BT 99 R IR IF Jqed IFIF 95 FIT B (9 932 @ (7 @7
oS (I8 FACET 3 ST (7| 9% Igfed FERT FET I W@ MI ?

A.

_B.

Tea contains Vitamin B-12 which gives the stimulation.

(57 a f&o1FE fR-12 ¥ I7 4% SS= @)

Tea contains caffeine and pantothenic acid. These act as nerve
stimulator.

(51 2 % 932 Tomfas AHe WE 371 7Y TR RemE I
F4E)

Tea has tannin which has health benefits.

(5T 2 BOfas 4@ I 90T TF ©IE)

Tea is served hot, what gives the stimulation.

(ST T8 99 F47 37, TF SO 93 SR 9m)

[12]
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49, Both the one-horned rhino and the fishing cat are notable wild animals of
West Bengal. However, everything is not faring well for them. Which pair of
statements do you think is true about them?

ITP TSR A INEE, Yo APEETE SENEsy I+ @9 o=, g
AT SR AAS 4T AP T BeE @ 9 e o I
% AT T W F@I?
A. The rhino may become extinct in near future, while the fishing cat
may become extinct but not in near future.
(e feE S RE e MW, IW IEEES R we T, e
et sfime =)
/B. The rhino is still found in the wild, while the fishing cat is no more
found in the wild.
(TEH 2y&T T ARET TOI TW, (WA ANEET AF T MAECT
33T I/ A7)
C. The rhino is sure to become extinct but there is no data on fishing
cat in this respect.
(TEH TR A @ IME AE INEEE W AmE @ oW @)
D. The rhino is not expected to become extinct in near future, while the
fishing cat is now found only in captivity.
(TEE fE SRAe [A9E T 91, IF IEEF 94T aFE IAEEIT 6T
)

L/59.'/ Read the given statements A and B, and find their interrelationship.
Statement A: Of late the yield of cereal crops has not increased as
expected, or even has remained more or less the same. _
Statement B: A huge quantity of pesticides has been applied to the crops to
prevent loss to pest infestation. \

A 8 B 39 96 MG ©OWWF T W | w3

IS A: AFEfSF I TETTHA TSAE AEET % TEE, I AW

(MGRI6 932 TF (5=

I B: I (CFF) NEAT TN I @N IM© WE S

AN FOATTE TEST FAT 7@

A. Both statements are true, and statement B is the reason of statement
A while statement A is the action in respect of statement B. :
(76 IR V%, AT IS/ B ISV A-T FFT, AT IFT A 369 B-F
S e T

_/B" Both statements are true, and statement B is the cause while

statement A is its effect. !
(76 ISR MEP, AT B IHI I FFA, TS A T OF FF)

C. Both statements are true, but statement A and statement B are not
related.
(96 s e, Re 5T A 8 TBT B -97 M @A TEF @)

D. Both statement A and statement B are incorrect.
(357 A 8 T35 B 763 @)

[13]
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